AREA 3x—a>5x 9 b x<6 D W, a o G2

@® -5 @ -12 ® 0 @ 3 ® 5



2. 400 9 A 3ot 250 A A2] GAE ote] 10 & AL g
A 7FAS 5000 4 oI5t oFAA 400 € A= 93E 7Heot Bol
At o ghek, 400 fRte] EE 2 A A S YT

@ 15% @ 16% ® 177 @ 18% ® 19%



MigFe 1A
°

o] 900%%}10]1’ E_ﬂ/\]If_— 7]—]& 2km77}7\]% f7°
1900 Y o], o]

ST2E=200mT 100 YA eHgtcka shot WAL
EAIZE 22 A8 mEpittal @ off, v o] & o] 5T off, HAE
El= ZET YA E B Zlo] et A2 2 km GolH 7R
Q1717

i}

A

® 5km A5t ® 5.4km v|gt ® 4.2km ©]5}

@ 4.2km o]t ® 5.2km v]gt

—



